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greg-g
PULSE3S

greg-g
STDSBP3S
STDDBP3S

greg-g
SBP3S and DBP3S = average of two corrected readings

STDSBP3S and STDDBP3S = average of two standard readings
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SBP3S

greg-g
DBP3S
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greg-g
EVSMK3S

greg-g
SMKNOW3S

greg-g
HLQUIT3S

greg-g
AGESMK3S
INHALE3S


OFTEN3S


greg-g
BURN3S



greg-g
Calculated Variable

CIGS3S = Q12 for current smokers and 0 for nonsmokers

greg-g
CIGS3S

greg-g
CIGMAX3S
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greg-g
CIGAR3S

greg-g
CIGLO3S

greg-g
PIPE3S

greg-g
CCP3S

greg-g
Calculated Variable

Other tobacco smoker:

CCP12 = 1 if Q27 or Q31 or Q36 =  1 and 0 otherwise











greg-g
AGE3S

greg-g
Calculated Variable:

Age in years at third screen (randomization)
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